
Answers to College Algebra Placement Review 
 

1. a)  −32 b)  4 c)  11 d)  
35
24

  e)  
11
10

  f)  
1
4

 

 

2. a)  16 b)  81𝑎20 c)  
1
𝑥2

 d)  𝑎2𝑏 − 2𝑎𝑏2 e)  𝑥2𝑦 + 2𝑥𝑥 f)  20𝑚 g)  2𝑥3 + 5𝑥2 − 4 

 

3. a)  𝑥 = 5
3  b)  𝑧 = 3 c)  𝑀 = 3

5  d)  𝑝 = 1
9  e)  ℎ = 23

12 f)  𝐷 = −3 
 

4. a)  (−∞, 10) b)  [−4,∞) c)  (−∞, 2] d)  � 23
16 ,∞� e)  (−3,7) f)  [−5, 17

3 � 
 

 g)  � 32
15 , 13

5  � h)  (−3, 5] i)  (−∞,∞) j)  �−∞, 1
7� ∪ (6,∞) k)  ∅ 

 
5. a)  {−9, 9} b)  ∅ c)  � 2

11
, 1� d)  �− 9

2
, 27
2
� e)  �4

5
, 12� f)  �− 2

3
, 2� g)  �− 38

7
,−2� h)  ∅ 

 
6. a)  [−21, 19] b)  [−4, 5

2
� c)  (−∞,−9]  ∪  [3, ∞) d)  �− 2

11
, 4�    

 
e)  (−∞,∞) f)  �−∞,−53

6
�  ∪ �− 17

6
,∞� g)  ∅ h)  (−∞,∞) 

 

7. a)  𝑚 = 6𝑇
𝑣  b)  𝐿 = 9

𝑎+ℎ c)  ℎ = 𝐴−3𝜋𝑟2

6𝜋𝜋  d)  𝑥 = 3𝐵
2−𝐵  e)  𝑇 = 3𝑅𝑅

2𝑆−5𝑅  f)  𝑦 = 𝑥2 + 5𝑥 + 1 
 
8. a)  Domain: {−3,0,2,4,6}, Range: {−1,1,6}, function b)  Domain: {0,1,4,9}, Range: {−2,−1,1,2,7}, not a function 
 
9. a)  𝑦 = 2𝑥 + 4  over interval [−3,2] b)  𝑦 = − 2

𝑥
  over interval [−2,2] 

 
 
 
 
 
 
 
 
 
 

c)  𝑦 = 3 − |𝑥|  over interval [−5,5] d)  𝑦 = 5 − 𝑥2  over interval [−3,3] 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



e)  𝑦 ≤ −𝑥 + 4  over interval [−3,3] f)  𝑦 ≥ 1
2 𝑥 − 2  over interval [−3,3] 

 
 
 
 
 
 
 
 
 
 

10. a)  𝑦 = 𝑥 + 2  b)  𝑦 = 5 c)  𝑦 = 1
3 𝑥 −  73  d)  undefined slope, 𝑥 = −3  

 
11. a)  𝑦 = 2𝑥 − 5 b)  𝑦 = 3𝑥  
 

12. a)  𝑦 = 3𝑥 + 1 b)  𝑦 = 1
2 𝑥 + 3  

 
13. a)  (−2,−7) b)  �1

2
,−2� c)  no solution d)  infinitely many solutions 

 
e)  �− 4

5
,−3� f)  (57,−8) g)  no solution h)  �32

15
, 12
5
� 

 
14. a)  3𝑥5𝑦2(2𝑦6 − 3𝑥2) b)  2(𝑥 − 5)(𝑥 + 5) c)  (𝑡 − 7 )(𝑡 − 1) d)  prime                 
 

e)  (ℎ + 5 )(ℎ − 3) f)  (3𝑧 + 1)(𝑧 − 4) g)  (8𝑥5 + 13𝑦2)(8𝑥5 − 13𝑦2) h)  (𝑎 − 2)(𝑎 + 1)            
 

i)  (2𝑥 + 5 )(4𝑥2 − 10𝑥 + 25) j)  2 (𝑚 − 1)2 k)  (5𝑥 + 3 )(2𝑥 − 7) l)  (3𝑥 − 2)(𝑥 + 1)                 
 

m)  (3𝑎2 − 1)(𝑎 − 2 ) n)  (𝑥2 + 5 )(𝑥 + 2)(𝑥 − 2)  
 

15. a)  2  b)  4 +  10
𝑥−3 c)  𝑥2 − 2𝑥 + 5 + 18

𝑥−4 d)  2𝑥2 + 4𝑥 + 8 − 3
𝑥−2 e)  𝑥 − 3 − 11𝑥2−10𝑥+5

𝑥3−𝑥2+2𝑥−1 
 
16. a)  𝑥 = 2, 𝑥 = 1 b)  𝑥 = 19 c)  𝑥 = −5, 𝑥 = 2                
 

d)  𝑥 = −3, 𝑥 = 2 e)  𝑥 = 0, 𝑥 = 2
3 , 𝑥 = 7

2 f)  𝑥 = −1, 𝑥 = 5
3 

 

17. a)  
𝑥−1
𝑥+5

 b)  
𝑥+2
2𝑥−2

 c)  
3𝑥−2
𝑥2−4

 d)  
1
𝑥

 e)  7 − 𝑡 
 

f)  
1

𝑥(𝑥+3) g)  𝑥 + 6 h)  
𝑥2+7𝑦2

𝑥𝑥+4
 i)  

4𝑥−25
𝑥(𝑥−5) j)  

2 (3𝑎+1)
9𝑎+5

 

 
18. a)  𝑥 = 5

2
       b)  𝑄 = 1                 c)  𝑦 = 8                   d)  𝑝 = 6                    e)  no solution               f)  𝑡 = 0 

 

19. a)  𝑥 = − 1
3 , 1 b)  𝑚 = 1±�2

3  c)  𝑝 = − 1
5 , 1 d)  𝑄 = − 3

2 , 1
2  

 

e)  𝑥 =  −1, 2 f)  𝐴 = −5, 7 g)  𝑥 = −1,−5 h)  𝑤 = − 1
2 , 5

2                     
 

i)  𝑥 = 2 ± √11 j)  𝑥 = −4 ± √3 k)  𝑦 = − 5
2 , 3

2 l)  ℎ = −3±�21
2  


